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Reasoning Mega Quiz for SSC Tier-1 
 

Q1. A series is given with one term missing. Select the correct alternative from the given ones that 

will complete the series.  

CM, EK, GI, ? 

(a) IK 

(b) IG 

(c) LM 

(d) PS 

 

Q2. A series is given with one term missing. Choose the correct alternative from the given ones 

that will complete the series. 

NM, PK, SI, ? 

(a) VE 

(b) WF 

(c) VG 

(d) WG 

 

Q3. Select the related word/letters/number from the given alternatives. 

DI : M : : CR : ?  

(a) Y 

(b) Q 

(c) P 

(d) U 

 

Q4. Select the related word/letters/number from the given alternatives.  

TU : MN : : JK : ? 

(a) CD 

(b) RS 

(c) TM 

(d) KL 

 

Q5. Select the related word/letters/number from the given 

alternatives.  

36 : 25 : : 100 : ? 

(a) 81 

(b) 30 

(c) 35 

(d) 40 
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Q6. A series is given with one term missing. Choose the correct alternative from the given ones 

that will complete the series. 

ZA, XC, TG, NM, ? 

(a) KL 

(b) FU 

(c) LM 

(d) TI 

 

Q7. A series is given with one term missing. Choose the correct alternative from the given ones 

that will complete the series. 

CD, ? , MN, UV, EF 

(a) EF 

(b) GH 

(c) KL 

(d) ML 

 

Q8. If 1st January 2013 was Wednesday, then what day of the week was it on 2nd January 2014? 

(a) Wednesday 

(b) Thursday 

(c) Tuesday 

(d) Friday 

 

Q9. Mohini went to the movies nine days ago. She goes to the movies only on Thursday. What day 

of the week is today?  

(a) Thursday  

(b) Saturday  

(c) Sunday  

(d) Tuesday 

 

Q10. Select the related word/letters/number from the given alternatives. 

WD : TF : : TG : ? 

(a) QR 

(b) QI 

(c) IQ 

(d) IP 

 

Q11. Select the related word/letters/number from the given alternatives. 

68 : 130 : : 222 : ? 

(a) 345 

(b) 365 

(c) 355 

(d) 350 
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Q12. Find the odd word/letters/number pair from the given alternatives 

(a) CZHK 

(b) SENO 

(c) XUBU 

(d) MLAE 

 

Q13. Arrange the following words as per order in the dictionary 

1. Follicle  

2. Folk  

3. Follow  

4. Foliage 

(a) 4, 2, 1, 3 

(b) 3, 4, 2, 1 

(c) 4, 3, 1, 2 

(d) 2, 4, 3, 1 

 

Q14. A series is given, with one term missing. Choose the correct alternative from the given ones 

that will complete the series. 

463, 452, 439, 424, ? 

(a) 407 

(b) 413 

(c) 419 

(d) 411 

 

Q15. X is the husband of Y. W is the daughter of X. Z is the husband of W. N is the daughter of Z. 

What is the relationship of N to Y? 

(a) Cousin 

(b) Niece 

(c) Daughter 

(d) Grand daughter 

 

Q16. Select the related word/letters/number from the given alternatives.  

AIDS : VIRUS : : MALARIA : ?  

(a) Protozoa 

(b) Bacteria 

(c) Fungi 

(d) Algae 

 

Q17. Select the related word/letters/number from the given 

alternatives.  

58531 : 11 : : 78363 : ?  

(a) 2 

(b) 9 

(c) 4 

(d) 7 
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Q18. Find out the odd word/letters/number/number pair from the given alternatives. 

(a) EV 

(b) GT 

(c) JQ 

(d) PL 

 

Q19. A series is given with one term missing. Choose the correct alternative from the given ones 

that will complete the series. 

? , Kerosene, Diesel, Fuel oil 

(a) Lubricating oil 

(b) Asphalt 

(c) Petrol 

(d) Wax 

 

Q20. A series is given with one term missing. Choose the correct alternative from the given ones 

that will complete the series. 

MNP, STV, YZB, ? 

(a) GHJ 

(b) JKM 

(c) EFH 

(d) CDB 

 

Q21. Select the related letters from the given alternatives.  

BEH : KNQ :: FIL : ? 

(a) ONM  

(b) NLJ 

(c) ORU  

(d) OMK 

 

Q22. Select the odd word from the given alternatives.  

(a) Cyan  

(b) Crimson 

(c) Indigo  

(d) Sky blue 

 

Q23. In a certain code language, '+' represents 'x', '-' represents '+', 'x' represents '÷' and '÷' 

represents '-'. What is the answer to the following question?  

80 x 16 ÷ 4 + 2 - 8 = ? 

(a) 11  

(b) 64 

(c) 30  

(d) 5 
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Q24. If 35 % 31 = 12, 92 % 30 = 14 then what is the value of 15 
% 24 = ?  
(a) 12  
(b) 25  
(c) 33  
(d) 28  
 
Q25. X and Y both start from a same point. X walks 17 m West, 
then turns to his right and walks 13 m. At the same time, Y 
walks 9 m North, then turns East and walks 7 m, then turns to 
his left and walks 4 m. Where is Y now with respect to the 
position of X?  
(a) 24 m West  
(b) 10 m East  
(c) 10 m West  
(d) 24 m East  
 
Q26. In the question a statement is given, followed by two arguments, I and II. You have to 
consider the statement to be true even if it seems to be at variance from commonly known facts. 
You have to decide which of the given arguments, if any, is a strong argument.  
Statement : Should songs be eliminated from Indian movies 
Argument I : Yes, Hollywood movies are hit despite having no songs 
Argument II : No, songs help increase length of the movie.  
(a) If only argument I is strong.  
(b) If only argument II is strong 
(c) If both I and II are strong.  
(d) If neither I nor II is strong. 
 
Q27. Which answer figure will complete the pattern in the question figure?  

 
(a)  

  
(b)  

 
(c)  

  
(d)  
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Q28. From the given answer figures, select the one in which the question figure is 

hidden/embedded.  

 
(a)  

  
(b)  

 
(c)  

  
(d)  

 
 

Q29. A series is given, with one term missing. Choose the correct alternative from the given ones 

that will complete the series.  

K, J, L, I, M, ? 

(a) G  

(b) H 

(c) F  

(d) N 

 

Q30. Aarav's birthday is on Sunday, 12th March. On what day of the week will be Madhup's 

Birthday in the same year if Madhup was born on 10th August?  

(a) Thursday  

(b) Wednesday 

(c) Friday  

(d) Saturday 
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